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TCERHBUT 1328 91 1237 37 32 10 42 5 113%
EEHRERRF 1319 1241 78 2 12 12 24 22 1200%
TCEREER 176 7 169 5 3 5 8 3 160%
TEEMRS O R RAENAR 45 0 45 1 1 0 1 0 100%

TEERIRIFRES 201 15 186 5 11 0 11 6 220%
TEERICEM @R 62 1 61 1 1 0 1 0 100%

TCERHIIM D &P 36 0 36 1 1 0 1 0 100%
TEERRE MR LR 49 0 49 1 1 0 1 0 100%
TCE G R 40 2 38 1 3 0 3 2 300%
TEHE R IEE LSS 75 PR 122 3 119 3 6 4 10 7 333%
TCE R B BB #5 39 0 39 1 2 2 4 3 400%
EEH TR BB 52 2 50 1 4 0 4 3 400%

TCERI S RED 150 18 132 3 6 0 6 3 200%
TEEMICE PSR 38 1 37 1 1 0 1 0 100%
TCERHFA R 391 357 34 1 1 0 1 0 100%
EE#/ LR 112 12 100 3 6 0 6 3 200%

TCEAENEYIBE PR 47 1 46 1 2 2 4 3 400%
TEERRICETR AR 470 55 415 12 33 2 35 23 291%

TCE A B AFT 118 18 100 3 3 0 3 0 100%
TEERTEEARR 144 3 141 4 7 2 9 5 225%
TEEE BRI AN A FR 210 5 205 6 7 4 11 5 183%
sty =g\ NI 350 0 350 10 19 2 21 11 210%
TCEHELH AR 146 37 109 3 6 1 7 4 233%

TEERNERAFT 99 2 97 2 4 2 6 4 300%
TEEHRL B AR 117 1 116 3 5 0 5 2 166%




IR TR AP 131 12 119 3 7 8 266%
TEEM%E R NFR 108 3 105 3 2 5 166%
TCEHRB W AFT 395 7 388 11 19 20 181%
et = N 178 9 169 5 5 7 140%
TCEGHE AR 105 2 103 3 4 6 200%
TCERUEERRPEER 48 1 47 1 1 1 100%

TCEHUFHERPE 49 0 49 1 1 1 100%
TEERUTTEERPE 155 1 154 4 4 6 150%
TCEHUERERPE 202 3 199 5 4 6 120%
TEERUEEBER S 107 3 104 3 3 3 100%
TCEHU-—RERPE 37 1 36 1 0 2 200%
TTERUERRRPE 77 0 77 2 3 3 150%
TCEHIT B R P& 44 0 44 1 1 1 100%
TCERUSZERPE 56 0 56 1 1 1 100%
TCEH I BMBER P2 52 0 52 1 1 1 100%
TEERIIERRPE 46 1 45 1 2 2 200%

44 0 44 1 1 1 100%
TEEHRUEEERPE 80 0 80 2 3 3 150%
TCEHKI ERER P E 88 2 86 2 1 3 150%
TEERIECEEPE 75 0 75 2 2 2 100%
TEERICETREER & 59 0 59 1 1 1 100%
TCERICETPRRER/ N2 164 2 162 4 6 6 150%
TEERICETREER /& 89 3 86 2 2 4 200%
TCERICERRIER /N2 62 0 62 1 2 2 200%
TCERICETPERR/NE 113 2 111 3 3 5 166%
TCERCEN P ERR/NE 59 1 58 1 1 1 100%
TCERCETRZERNE 81 0 81 2 3 3 150%




TCEHRCEMERER N2 85 2 83 2 1 2 3 1 150%
TEiE R I A0 A B B\ B8 79 0 79 2 3 0 3 1 150%
TCE RTINS E R/ 22 67 0 67 2 0 4 4 2 200%
TCEGRSTHELER/NE 105 1 104 3 3 0 3 0 100%
TTEGEZHEERR/NE 132 1 131 3 1 2 3 0 100%
TCEGHERPREEER/NE 53 0 53 1 2 1 3 2 300%
TCEHESZHECRERNE 46 1 45 1 2 0 2 1 200%
TCEHRESZHRERRNE 74 1 73 2 2 0 2 0 100%
CEHBAMEBAME R/ N2 50 2 48 1 1 0 1 0 100%
TEERNEMNERRNE 38 0 38 1 2 0 2 1 200%
TCERREAEEER 2 50 2 48 1 0 2 2 1 200%
TtEREEETEERNE 73 1 72 2 4 0 4 2 200%
TCEHEREPHER NS 48 0 48 1 0 3 3 2 300%
TCEGRSTHILEERNE 117 2 115 3 4 0 4 1 133%
TCERCETPRERNE 110 0 110 3 1 2 3 0 100%




